HREX—TIK1 (A4 A

SH6E6 AR
SULSATERKE CGREAE) KEHRBRERBREE GERE)
EROKEFME 8:30
KEHBHER (ELNEKE 2KF (&K )
B XiE | KB | KB | B E pH |7ZiLhY | BE | %% |&ith| &% TV | & &
B REWM | A4 "o
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 = 17.0 16.6 120.0 7.50

2 i 21.5 17.7 78.8 7.66

3 B 16.0 16.4 76.8 7.62 43.6 | 54.5 173 2.9 2.60 0.06
4 & 20.0 16.7 60.0 7.70

5 & 21.0 17.3 49.6 1.73

6 ) 21.5 18.0 36.5 1.74

7 = 19.5 18. 1 30.4 1.71

8 i 17.5 18.5 13.2 1.73

9 = 18.5 19.3 13.1 1.75

10 ) 18.0 17.7 9.9 1.74

11 = 21.0 19.7 1.9 1.78

12 i 22.0 20. 4 19.0 7.79

13 = 21.0 20.7 1.5 1.76

14 i 20.5 19.7 6.7 1.77

15 B 20.5 21.4 6.1 7.82

16 5] 19.0 20.9 5.9 7.93

17 = 22.0 21.3 4.6 7.78 3.2 | 65.5 182 6.2 | 0.08 0. 02
18 5] 18.5 20.0 4.5 7.82

19 B 21.0 18.0 264.0 7.59

20 ) 21.0 18.6 85.1 1.67

21 [55] 20.5 19.6 37.2 7.68

22 i 21.0 16.8 56.2 7.69

23 [55] 21.0 18. 1 26.8 1.67

24 ) 23.0 18.9 710.0 1.75

25 = 24.0 19.9 271.0 7.60

26 i 21.0 19.6 102.0 7.65

217 B 23.5 19.5 59.3 7.63

28 5] 21.0 19. 1 32.5 7.69

29 = 21.0 18.5 356.0 7.61

30 ) 22.5 19.7 236.0 1.73

31
Ty 20.5 18.9 93.2 7.1 48.4 | 60.0 178 4.6 | 1.34 0.03
== 24.0 21.4 710.0 7.93 3.2 | 65.5 182 6.2 | 2.60 0.06
=IE 16.0 16.4 4.5 7.50 43.6 | 54.5 173 2.9 0.08 <0.02




HREX—TIK1 (A4 A

SHM6E6 AR
ALSATERKE GREAE) KEHARBRBREE FEE)
EROKEFME 8:30
KEHBHER (ELNEKE SBKtE (GR2K) )
B XiE | KB | KB | B E pH |7ZiLhY | BE | %% |&ith| &% v | & &
-3 REWM | A4 "o
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 = 17.0 17.7 0.5 7.33

2 & 21.5 19.2 0.8 7.40

3 & 16.0 17.6 0.8 1.21 31.7| 52.3 136 3.4 0.03 0. 02
4 & 20.0 16.9 0.9 1.22

5 & 21.0 18.7 0.9 7.29

6 ) 21.5 17.8 1.2 7.35

7 = 19.5 18.5 1.0 7.45

8 i 17.5 18.4 1.0 7.45

9 = 18.5 18.8 1.1 7.59

10 ) 18.0 18.7 1.6 7.62

11 = 21.0 18.9 0.8 7.65

12 i 22.0 20.1 1.6 7.68

13 = 21.0 20.9 1.5 1.70

14 i 20.5 20.2 1.4 7.67

15 B 20.5 21.3 1.7 1.76

16 5] 19.0 21.1 1.8 7.70

17 = 22.0 20.8 2.0 1.71 50.0 | 62.1 163 6.1 0.07 0. 02
18 5] 18.5 20.5 1.8 1.74

19 B 21.0 19.6 2.8 7.49

20 ) 21.0 18.7 0.8 7.34

21 [55] 20.5 19.1 0.9 7.40

22 i 21.0 18.3 1.2 1.4

23 [55] 21.0 18. 1 1.5 7.36

24 ) 23.0 19.0 0.6 7.34

25 = 24.0 20.1 0.2 6.95

26 i 21.0 20.2 0.4 7.30

217 B 23.5 19.6 0.4 7.36

28 5] 21.0 19.6 1.0 7.37

29 = 21.0 19.4 1.1 7.35

30 ) 22.5 19.1 0.5 1.22

31
Ty 20.5 19.2 1.1 7.45 40.9 | 57.2 150 4.8 0.05 <0.02
== 24.0 21.3 1.71 50.0 | 62.1 163 6.1 0.07 0. 02
=IE 16.0 16.9 6.95 31.7 | 52.3 136 3.4 0.03 <0.02




